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Daily Word Problem

An arborist is studying the types of trees in a local park.

E-26

________________________
How many more pine trees are 
there than willow trees?

________________________
How many oak and maple 
trees are there combined?

Show your work.
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Daily Word Problem
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Name: E-27

Mr. Langley baked 5 pies for a bake sale. He cuts each pie 
into eighths.

________________________

How many pieces of pie does 
Mr. Langley have for the bake 
sale?

________________________

If Mr. Langley sold each piece 
for $3, how much money would 
he make at the bake sale?

Show your work.



Daily Word Problem

Super Teacher Worksheets - www.superteacherworksheets.com

Name: 

An American football field measures 120 yards in length, 
including the end zones. Remember, 1 yard equals 3 feet, 
and 1 foot equals 12 inches.

__________________________
How many feet long is  
the field?

__________________________
How many inches long is  
the field?

Show your work.

E-28



Daily Word Problem
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Name: E-29

answer: ____________________

Parker drinks 1/ of a gallon of water in the morning and 
1/ of a gallon of water at lunch. During baseball practice, 
Parker drinks another 3/ of a gallon of water. What is the total 
amount of water, in gallons, that Parker drinks?

Show your work.
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Daily Word Problem
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Name: 

answer: ____________________

E-30

Angel weighed some rocks in his rock collection. The first rock 
weighed 1.4 kilograms, the second weighed 2.8 kilograms, 
and the third weighed 1.9 kilograms. How many kilograms did 
the rocks weigh in all?

Show your work.



Daily Word Problem

ANSWERSE-26 through E-30

5 × 8 = 40 120 × 3 = 360

40 × 3 = 120 360 × 12 = 4,320

140 -- 60 = 80
80 + 90 = 170
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1.4 + 2.8 + 1.9 = 6.1

answer: ____________________

Angel weighed some rocks in his rock collection. The 
first rock weighed 1.4 kilograms, the second weighed 2.8 
kilograms, and the third weighed 1.9 kilograms. How many 
kilograms did the rocks weigh in all?

Show your work.

answer: ____________________

Parker drinks 1/ of a gallon of water in the morning and 
1/ of a gallon of water at lunch. During baseball practice, 
Parker drinks another 3/ of a gallon of water. What is the 
total amount of water, in gallons, that Parker drinks?

Show your work.

3
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An American football field measures 120 yards in length, 
including the end zones. Remember, 1 yard equals 3 feet, 
and 1 foot equals 12 inches.

__________________________
How many feet long is  
the field?

__________________________
How many inches long is  
the field?

Show your work.

Mr. Langley baked 5 pies for a bake sale. He cuts each pie 
into eighths.

________________________

How many pieces of pie does 
Mr. Langley have for the bake 
sale?

________________________

If Mr. Langley sold each piece 
for $3, how much money would 
he make at the bake sale?

Show your work.

An arborist is studying the types of trees in a local park.

________________________
How many more pine trees 
are there than willow trees?

________________________
How many oak and maple 
trees are there combined?

Show your work.
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Pine Willow

80 pine trees

170 trees

40 pieces

$120

360 feet

4,320 inches

1 gallon 6.1 kilograms


